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No. me h X 1134 L1137 I LAE BIERR
1 [/hE X3RiA WR  |BREET (10BgAT) [REET (10BaLLT) |[HRHEET (10BgAT) BRI
2 [4F29 FH  |[BREET0BIUT) |[HEET (10BaUT) |[HEET (10BgAT) B
3 |f otk H O |[RHEET0BLT) [|[#HEET (10BgLT) |[HRHEET (10BaAT) BRiE =
4 (Hh7 BA |[BMEET(10BgAT) [HWHEET (10BgATF) |[HEHET (10BaLTF) B
5 |AVI57— EBA |[RHEEFT10BLLT) [|[#&EET (10BgLT) |[HRHEET (10BaAT) BRiE =
6 [F/a (=K AD) (FT) B [BMEET (10BaAT) [BWHEET (10BgATF) [HHEET (10BaLTF) B
T |F/aN\37VA0) (FRT) | AR |[BMHET (10BgAT) |[HREET (10BqlT) [HHET (10BaAT) BEiE=C
8 [F/aGRYx454) (3T) B [MEEIT (10BgAT) [BWHEET (10BgATF) [HHEET (10BaLTF) B
9 [Z1F5 EBA |[RHEEFT(I0BLLT) [|[#&EET (10BgLT) |[HRHEET (10BaAT) BRiE =
10 |[/MAZ FH |[HEET(10BgAT) [BWHEET (10BgATF) |[HEHEET (10BaLTF) B
11[EDFF X2&(K R [BREET (10BgAT) |#REET (10BgLT) |[#EE9 (10BgdT) BEiE=C
12|B3¥F X3RMA FH |#HBEET(10BaAT) |[BHEET (10BgLlTF) |[#REET (10BaLlT) B
13|viin=x BHE [HREE€T0BUT) |[HEET (10BaAT) |[HREET (10BglT) iR
14| KR X24&4K BAE |[HREET(10BgUT) [BRHEET (10BgLLT) |H&EHET (10BgAT) BRIER
15 | KR ME [HEEFTA0BUT) |[HEET (10BaAT) |[REET (10BgLlT) iR
16|yt PR [#BEE9(10BgT) |HHEET (10BgllF) |[fREET (10BaLlT) iRt
17|I2ALA i BHET (10BgATF) |[HRHEEI (10BqLLT) [HBHEEF (10BaAT) iR
18|+ X2k EEB |[RHEEF(10BLIT) [#REET (10BgLT) |[HHEET (10BqAT) BRIER
19|8% =R |[BEET(10BgUT) |[BRHEEI (10BgAT) |[REET (10BgLlT) iR
20 [EXR R |BREET(10BgAT) [REET (10BgLT) [HEET (10BgAT) BRIER
21|/\¥k2Y H  |BREET(0BUT) |[BRHEEI (10BgAT) |[REET (10BgLlT) iR
22 (Z7ayay— BA |[BEET(10BaAT) |[BHEET (10BalTF) |REET (10BgLlT) iR
23 |[~NFK HFH |HREET(0BgUT) |[BREEI (10BgAT) |[REET (10BgLlT) BEiR
24 [IFSNAE X3RIK BA |BEET(10BaAT) |[BHEET (10BaLTF) |REET (10BgLlT) iR
25|/RT L EBA |BREET(10BgUAT) |[BREEI (10BgAT) |[REET (10BgLlT) BEiR
26 |2 (SSFT) X3HgiK FH |HBEET(10BaAT) |[BHEET (10BalTF) |REET (10BgLlT) iR
272X AE |[BREET(0BUT) |[BREEI (10BgAT) |[REET (10BgLlT) BEiR
28 |LAR FiH  |BEHET(10BaATF) [HHEET (10BgLLTF) [#EHET (10BgLTF) b=l
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No. mm B X L1134 L1137 I LER BIE
11F29 A |[REET (25BLLT) |[RHEET (25BqlLT) [REET (25BaAT) | FEmtE=
2|o=TEY X 3M&lK AE |HBHET (25BaATF) [HRHEET (25BqAT) [#EHEHET (25BalLTF) FERIE
W= X 3@k ZHHA |[RELT(25BqAT) [REET (25BallT) |[RHEET (25BqAT) | FEMIER
4|1A—B LRI L BHE |BRHEET(25BaAT) [BREET (25BaAT) [#RHEET (25BqlAT) FERiE
S5[# X 168k AR [REEI(25BaLT) |[REET (25BaAT) |[RHEET (25BqlLT) | JEmiER=K
6|H7 FiF |[BRHEET(25BaAT) [#BRHEET (25BaAT) [#RHEET (25BqlAT) FERIE
7(HI7757— X 58k FH  |[RHEET(25BgLLT) |[REET (25BaAT) |[BRHEET (25BqAT) | JEmERK
8|hUr X 2t&fK BA  |[BRHEET(25BqLATF) [|#&EET (25BalAT) |[BHE T (25BaLTF) FERIE
9|%o41 AE |BHET(25BaAT) |HRHHET (25BqLT) |#RHEET (25BqLlTF) FEmiER =
103D X 28tk CHE [RHEET (25BaT) [BHEF (25BabTF) [MHET (25BalT) | Jemisgst
1[F/a(4/1nF) iR 104.90 663.20 768.10 | FEmLIE
12[F/a3(47\F) &H 280.40 1,563.10 1,84350 | FEmEtE=
13|F/a4/1nF) FNHE 165.10 988.20 1,153.30 | JERE IR
14|F /a4 /1) ER  [BHEET (25BqAT) 839.80 839.80 | JEREIER
15|F /a4 /1) A 453.50 2,557.70 3,011.20 | FEmGIEX
16[F/3(FHESY) FE 446.70 2,422.30 2,869.00 | JERRIE
17|F/2(HF93040) (@T) | HR |BRHEET (25BalT)  [EHET (25BqlAT) |[#HE T (25BqATF) | FERRERR
18|F/a(Ho3VAY) (7 T) | HiE  |BREET (25BqLT) |[HRHEET (25BqAT) |#&EET (25BqLT) FERiE =
19|1%/2(724%%7) (& T) BOR  |BREET (5B T) [RHEET (25BallT) [HMHEEF (25BaAT) | FEmER

20|F/3(492) AR 43.80 297.20 341.00 | FERGIRR

21|F/3(492) (#@T) B [BEET(25BaAT) [BWEET (25BaAT) [WHEET (25BaATF) | FERERS
22|F /34 /1)) AR 314.20 1,727.70 2,041.90 | FERGIER
23|F/3a(4/\F) (FT) B [BEET(25BaAT) [BWEET (25BaAT) [WHEET (25BaATF) | FERERS
24|F /(979 40) (3T) | R |BREET(25BalAT) |BRHEET (25BallT) [RHET (25BalLT) | FEARIR=
25|F/3a(4/\F) (FT) EiR 117.00 688.90 805.90 | JERRIR=
26|F/(KREVAD) FNHE 205.50 1,245.50 1,451.00 | FEREIR
27|F/a(F724%7) (#T) BA |[BEET(25BqAT) [HWEET (25BaAT) [WHEET (25BaATF) | FERERS
28|F/a(R15%7) = BREET (265BallT) [RHET (25BalLF) [#RHE T (26BaAT) | FERRERN
29|1F/a(4/1\F) FigiR 251.80 1,316.20 1,568.00 | SEREIER
30|RE X2tk BiR  |REET(25BqAT) |REET (25BaLT) [RHEET (25BalT) | FERER
KARES AE |HHET (25BaATF) [#HHEHET (25BqLT) [#EHET (25BqlLTF) FER R
32|EAMk X 24RfK ZHE [RHEET(25BqUT) |[BEET (25BqAT) |[BHEET (25BaAT) | JEmiE=
33|z X 21R{K HE |#BHE9(25BalATF) [HHEET (25BqlT) |#EHEET (25BqLF) JEm iR
34|&DFF X ofRfK BHE [REET(25BqUT) |[HHEET (25BqlLT) |[HHEET (25BqATF) | JEmER
35|EF X 11K FH |[BREET(25BaAT) |[BRHEET (25BalT) [EHET (25BaLT) | FERRIERR
36|ILERE HFH |[BREET(25BqUT) |REET (25BaLT) [RHEET (25BalT) | ERER
37|PVDE BE [|[RHET(25BqLT) |[EHET (25BalLT) |[#EET (25BqlTF) | FEmER
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No. mm B X Iy L1134 L1137 I LER BE 2R
3B[CrHIE(RDE) BOR  [MHEET(25BgLLT) |[REET (25BaAT) |[MHEET (25BqAT) | JEmERK
39|FH X 21K FiH  |BEHET(25BalATF)  [RHET(25BaAT)  |[EHEET (25BalLTF) FERIE
40|%% BAE [RHEET(25BqULT) |[RHEET (25BqlLT) |[HREET (25BaAT) | FEmtE=
41(KIR X 7&K FH [BEHET (25BaAT) [RHET (25BalATF) [RHE S (25BaLATF) FERiE
42| KIBZE X 21&(K i |RHEET(25BaLLT) |[RHET (25BglLT) [HRHEET (25BaAT) | FEmtE=
43|FEDIT HEA |[RHEET(25BqLLT) |[BRHE T (25BqLT) |BRHET (25BqLT) | FERiER
A|FoToE FH  [RHEET(25BgLLT) |[REET (25BaAT) |[BRHEET (25BqAT) | JEmERK
45| DIFH3E HE |HBHE9(25BqATF) [HRHEET(25BqLT) |#EHEET (25BqLTF) FERIE
46|~<hk X% 281K AT |[BREET(25BqAT) |BRHEET (25BqLLT) [RHET (25BqLT) | FERkiER
47| B+ {ZHHA [BRHEET(25BqLT) |#&EET (25BgATF) |[BHET (25BqLTF) FERiE
48|+ R X% 28k AE |[BREET(25BAT) |BREET (25BLT) [RHEET (25BalT) | FERER
49|yt HFH [BRHEET(25BqLLT) [#&EET (25BaATF) |[BHE T (25BqLTF) e iR
50|+ MR [REET(25BaLT) |[BHEET (25BaAT) |[WHET (25BqLLT) | JEMER
51{B% X 5i&K FH  |BREET(25BaAT) |[RHEET (25BalLT) [HREET(25BqAT) | FEMER
52|\ koY) X% 28K T |REET(25BLT) [RHEET (25BalLT) |[HMEET (25BaAT) | FEmER
53|E—<T X 2%k ZHEA |[RHEET(25BqLLT) |[BRHET (25BqLLT) |BRHET (25BqLLT) | FERkiER
54(7oyay— X 5K FH |[BRHET(25BgLLT) |BREE T (25BaATF) |HMHET (25BqLAT) | JEMER
55|F5hAE X 2&iK T |REET(25BLT) |[RHEET (25BqllT) [HMHEET (25BaAT) | FEmER
56| RT L R |REET(25BaAT) |[BREET (25BgAT) |BREET (25BgAT) | FEMER
57|RHR— BOR  |BREET (5Bl T) [RHEET (25BallT) [HREEF (25BaAT) | FEmRR
58|= X+ FH  |REET(25BUT) |[BREET (25BaUAT) |RBREET (25BgAT) | FERIES
59|2avH BHE |REET(25BaUT) |[BREET (25BaAT) |[BREET (25BgAT) | MR
60| v—av FH  |REET(25BaUT) |[BREET (25BgUT) |BREET (25BaAT) | FERIESR
61|21X X 28&{k BHE |REET(25BaUT) |[BREET (25BaAT) |[BREET (25BgAT) | MR
62|VAC X 24K BHE |REET(25BaUT) |[BREET (25BaAT) |[BREET (25BqAT) | MR
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